# A new refinement of the Radon inequality 

Cristinel Mortici ${ }^{1, *}$<br>${ }^{1}$ Valahia University of Târgovişte, Department of Mathematics, Bd. Unirii 18, 130082 Târgovişte, Romania

Received September 1, 2009; accepted October 20, 2010


#### Abstract

The aim of this paper is to give a new extension of the Radon inequality. AMS subject classifications: 26D15 Key words: Radon's inequality, Bergström's inequality, Hölder's inequality, Nesbitt's inequality


## 1. Introduction

In this paper we study the following inequality due to J. Radon, first published in [12]. More precisely, for every real numbers $p>0, x_{k} \geq 0, a_{k}>0$, for $1 \leq k \leq n$, the following inequality holds true:

$$
\begin{equation*}
\sum_{k=1}^{n} \frac{x_{k}^{p+1}}{a_{k}^{p}} \geq \frac{\left(\sum_{k=1}^{n} x_{k}\right)^{p+1}}{\left(\sum_{k=1}^{n} a_{k}\right)^{p}}, \quad p>0 \tag{1}
\end{equation*}
$$

For the proof and other comments, see [12, p. 1351], or the monograph [7, p.31]. Inequality (1) is widely studied by many authors because of its intrinsec beauty and also because of its utility in practical applications, as in the case of obtaining more general inequalities involving manifolds [9, p. 692]. A particular case $p=2$,

$$
\frac{x_{1}^{2}}{a_{1}}+\frac{x_{2}^{2}}{a_{2}}+\ldots+\frac{x_{n}^{2}}{a_{n}} \geq \frac{\left(x_{1}+x_{2}+\ldots+x_{n}\right)^{2}}{a_{1}+a_{2}+\ldots+a_{n}}
$$

is also well-known under the name of Bergström's inequality, e.g., $[3,4,6]$. It is equivalent to the Cauchy-Buniakovski-Schwarz inequality, while the Radon's inequality (1) is equivalent to the more general Hölder's inequality.

Generalizations of Bergström inequality and of the Cauchy-Buniakovski-Schwarz inequality are established by many authors, in particular by [1, 2, 5] and [11] and later in [8]. We give here more general versions of the results from [8] and these results are also generalizations of the Radon inequality and the Hölder inequality. In this sense, note that the Radon's inequality (1) follows from

$$
\left[\sum_{k=1}^{n}\left(\frac{x_{k}}{a_{k}^{1 / q}}\right)^{p+1}\right]^{1 /(p+1)} \cdot\left[\sum_{k=1}^{n}\left(a_{k}^{1 / q}\right)^{q}\right]^{1 / q} \geq \sum_{k=1}^{n} x_{k}
$$

*Corresponding author. Email address: cmortici@valahia.ro (C. Mortici)
by raising to the $(p+1)$-th power, where $(p+1)^{-1}+q^{-1}=1$.

## 2. The results

It is established as the main result in [8] that:

$$
\begin{equation*}
\frac{x_{1}^{2}}{a_{1}}+\frac{x_{2}^{2}}{a_{2}}+\ldots+\frac{x_{n}^{2}}{a_{n}} \geq \frac{\left(x_{1}+x_{2}+\ldots+x_{n}\right)^{2}}{a_{1}+a_{2}+\ldots+a_{n}}+\max _{1 \leq i<j \leq n} \frac{\left(a_{i} x_{j}-a_{j} x_{i}\right)^{2}}{a_{i} a_{j}\left(a_{i}+a_{j}\right)} \tag{2}
\end{equation*}
$$

for $x_{k} \geq 0, a_{k}>0,1 \leq k \leq n$, which is considered as an extension of the Bergström inequality. It was proved in [8], and before as a special case in [2, 5] and [11], that the sequence

$$
d_{n}=\frac{x_{1}^{2}}{a_{1}}+\frac{x_{2}^{2}}{a_{2}}+\ldots+\frac{x_{n}^{2}}{a_{n}}-\frac{\left(x_{1}+x_{2}+\ldots+x_{n}\right)^{2}}{a_{1}+a_{2}+\ldots+a_{n}} \quad, \quad n \geq 2
$$

is increasing and inequality (2) is $d_{n} \geq d_{2}$, where

$$
d_{2}=\frac{x_{1}^{2}}{a_{1}}+\frac{x_{2}^{2}}{a_{2}}-\frac{\left(x_{1}+x_{2}\right)^{2}}{a_{1}+a_{2}}=\frac{\left(a_{1} x_{2}-a_{2} x_{1}\right)^{2}}{a_{1} a_{2}\left(a_{1}+a_{2}\right)}
$$

We complete here that by putting $x_{k}=\lambda_{k} a_{k}, 1 \leq k \leq n$, in inequality (2), a more convenient form is obtained, at least if we think that the involved maximum can be calculated more easily. More precisely,

$$
a_{1} \lambda_{1}^{2}+a_{1} \lambda_{2}^{2}+\ldots+a_{n} \lambda_{n}^{2} \geq \frac{\left(a_{1} \lambda_{1}+a_{2} \lambda_{2}+\ldots+a_{n} \lambda_{n}\right)^{2}}{a_{1}+a_{2}+\ldots+a_{n}}+\max _{1 \leq i<j \leq n} \frac{a_{i} a_{j}\left(\lambda_{i}-\lambda_{j}\right)^{2}}{a_{i}+a_{j}}
$$

In a general case, first we establish the following
Theorem 1. For every $p>0, a, b>0, x, y \geq 0$,

$$
\frac{x^{p+1}}{a^{p}}+\frac{y^{p+1}}{b^{p}}-\frac{(x+y)^{p+1}}{(a+b)^{p}} \geq \frac{p(x+y)^{p-1}(b x-a y)^{2}}{a b(a+b)^{p}}
$$

holds.
Proof. The expression on the left-hand side of the inequality can be written as

$$
\begin{align*}
& \frac{x^{p+1}}{a^{p}}+\frac{y^{p+1}}{b^{p}}-\frac{(x+y)^{p+1}}{(a+b)^{p}} \\
& =\frac{x[b x(a+b)]^{p}+y[a y(a+b)]^{p}-(x+y)[a b(x+y)]^{p}}{a^{p} b^{p}(a+b)^{p}} \\
& =\frac{x\left[\left(a b x+b^{2} x\right)^{p}-(a b x+a b y)^{p}\right]-y\left[(a b x+a b y)^{p}-\left(a^{2} y+a b y\right)^{p}\right]}{a^{p} b^{p}(a+b)^{p}} . \tag{3}
\end{align*}
$$

Without loss of generality, we assume that $b x \geq a y$. As a simple consequence of the Lagrange theorem, for every $p>0$ and $0<u \leq v$, we have

$$
p u^{p-1}(v-u) \leq v^{p}-u^{p} \leq p v^{p-1}(v-u) .
$$

Using this double inequality in the square brackets from (3), we obtain

$$
\begin{aligned}
& \frac{x}{}\left[\left(a b x+b^{2} x\right)^{p}-(a b x+a b y)^{p}\right]-y\left[(a b x+a b y)^{p}-\left(a^{2} y+a b y\right)^{p}\right] \\
& a^{p} b^{p}(a+b)^{p} \\
& \geq \frac{x p(a b x+a b y)^{p-1}\left(b^{2} x-a b y\right)-y p(a b x+a b y)^{p-1}\left(a b x-a^{2} y\right)}{a^{p} b^{p}(a+b)^{p}} \\
& \quad=\frac{p(x+y)^{p-1}(b x-a y)^{2}}{a b(a+b)^{p}} .
\end{aligned}
$$

Now we are in the position to give the extension of inequality (2), which is stronger than the Radon's inequality.

Theorem 2. For every $n \geq 2, p>0, a_{k}>0, x_{k} \geq 0,1 \leq k \leq n$, it holds:

$$
\begin{align*}
\frac{x_{1}^{p+1}}{a_{1}^{p}}+\frac{x_{2}^{p+1}}{a_{2}^{p}}+\ldots+\frac{x_{n}^{p+1}}{a_{n}^{p}} \geq & \frac{\left(x_{1}+x_{2}+\ldots+x_{n}\right)^{p+1}}{\left(a_{1}+a_{2}+\ldots+a_{n}\right)^{p}}  \tag{4}\\
& +p \cdot \max _{1 \leq i<j \leq n} \frac{\left(x_{i}+x_{j}\right)^{p-1}\left(a_{i} x_{j}-a_{j} x_{i}\right)^{2}}{a_{i} a_{j}\left(a_{i}+a_{j}\right)^{p}}
\end{align*}
$$

Denoting $x_{k}=\lambda_{k} a_{k}, 1 \leq k \leq n$, we have the equivalent form:

$$
\begin{align*}
a_{1} \lambda_{1}^{p+1}+a_{2} \lambda_{2}^{p+1}+\ldots+a_{n} \lambda_{n}^{p+1} \geq & \frac{\left(a_{1} \lambda_{1}+a_{2} \lambda_{2}+\ldots+a_{n} \lambda_{n}\right)^{p+1}}{\left(a_{1}+a_{2}+\ldots+a_{n}\right)^{p}} \\
& +p \cdot \max _{1 \leq i<j \leq n} \frac{a_{i} a_{j}\left(a_{i} \lambda_{i}+a_{j} \lambda_{j}\right)^{p-1}\left(\lambda_{i}-\lambda_{j}\right)^{2}}{\left(a_{i}+a_{j}\right)^{p}} \tag{5}
\end{align*}
$$

Proof. Note first that inequality (2) is obtained as a particular case of our result (4) for $p=1$. Let us define the sequence $\left(\delta_{n}\right)_{n \geq 2}$ by the formula

$$
\delta_{n}=\frac{x_{1}^{p+1}}{a_{1}^{p}}+\frac{x_{2}^{p+1}}{a_{2}^{p}}+\ldots+\frac{x_{n}^{p+1}}{a_{n}^{p}}-\frac{\left(x_{1}+x_{2}+\ldots+x_{n}\right)^{p+1}}{\left(a_{1}+a_{2}+\ldots+a_{n}\right)^{p}}
$$

We claim that the sequence $\left(\delta_{n}\right)_{n \geq 2}$ is increasing. In this sense, we have:

$$
\delta_{n+1}-\delta_{n}=\frac{x_{n+1}^{p+1}}{a_{n+1}^{p}}+\frac{\left(x_{1}+x_{2}+\ldots+x_{n}\right)^{p+1}}{\left(a_{1}+a_{2}+\ldots+a_{n}\right)^{p}}-\frac{\left(x_{1}+x_{2}+\ldots+x_{n+1}\right)^{p+1}}{\left(a_{1}+a_{2}+\ldots+a_{n+1}\right)^{p}} \geq 0
$$

because of the classical Radon inequality (1). Now, the monotonicity of the sequence $\left(\delta_{n}\right)_{n \geq 2}$ implies that $\delta_{n} \geq \delta_{2}$, for every $n \geq 2$, and by Theorem 1 ,

$$
\delta_{2}=\frac{x_{1}^{p+1}}{a_{1}^{p}}+\frac{x_{2}^{p+1}}{a_{2}^{p}}-\frac{\left(x_{1}+x_{2}\right)^{p+1}}{\left(a_{1}+a_{2}\right)^{p}} \geq \frac{p\left(x_{1}+x_{2}\right)^{p-1}\left(a_{1} x_{2}-a_{2} x_{1}\right)^{2}}{a_{1} a_{2}\left(a_{1}+a_{2}\right)^{p}} .
$$

Now note that the obtained inequality

$$
\delta_{n} \geq \frac{p\left(x_{1}+x_{2}\right)^{p-1}\left(a_{1} x_{2}-a_{2} x_{1}\right)^{2}}{a_{1} a_{2}\left(a_{1}+a_{2}\right)^{p}}
$$

remains true even if we replace $a_{1}, a_{2}, x_{1}, x_{2}$ by any $a_{i}, a_{j}, x_{i}, x_{j}$, respectively, with $1 \leq i<j \leq n$, so the Theorem is proved.

A different bound was proved in [1] for $p \geq 1$.
In the first part of this section we show how Theorem 2 can be used to establish generalizations of the inequalites from [8]. If we put $x_{k}=1$ in (4), we obtain the following

Corollary 1. For every $n \geq 2, p>0, a_{k}>0,1 \leq k \leq n$, it holds:

$$
\frac{1}{a_{1}^{p}}+\frac{1}{a_{2}^{p}}+\ldots+\frac{1}{a_{n}^{p}}-\frac{n^{p+1}}{\left(a_{1}+a_{2}+\ldots+a_{n}\right)^{p}} \geq p \cdot 2^{p-1} \cdot \max _{1 \leq i<j \leq n} \frac{\left(a_{i}-a_{j}\right)^{2}}{a_{i} a_{j}\left(a_{i}+a_{j}\right)^{p}}
$$

By adding all the $n(n-1) / 2$ inequalities of the form

$$
\delta_{n} \geq \frac{p\left(x_{i}+x_{j}\right)^{p-1}\left(a_{i} x_{j}-a_{j} x_{i}\right)^{2}}{a_{i} a_{j}\left(a_{i}+a_{j}\right)^{p}}, \quad 1 \leq i<j \leq n
$$

we can state the next
Corollary 2. For every $n \geq 2, p>0, x_{k} \geq 0, a_{k}>0,1 \leq k \leq n$, the following extension of the Radon's inequality holds:

$$
\begin{aligned}
& \frac{x_{1}^{p+1}}{a_{1}^{p}}+\frac{x_{2}^{p+1}}{a_{2}^{p}}+\ldots+\frac{x_{n}^{p+1}}{a_{n}^{p}}-\frac{\left(x_{1}+x_{2}+\ldots+x_{n}\right)^{p+1}}{\left(a_{1}+a_{2}+\ldots+a_{n}\right)^{p}} \\
& \quad \geq p \cdot \max _{1 \leq i<j \leq n} \frac{\left(x_{i}+x_{j}\right)^{p-1}\left(a_{i} x_{j}-a_{j} x_{i}\right)^{2}}{a_{i} a_{j}\left(a_{i}+a_{j}\right)^{p}} \\
& \quad \geq \frac{2 p}{n(n-1)} \sum_{1 \leq i<j \leq n} \frac{\left(x_{i}+x_{j}\right)^{p-1}\left(a_{i} x_{j}-a_{j} x_{i}\right)^{2}}{a_{i} a_{j}\left(a_{i}+a_{j}\right)^{p}} .
\end{aligned}
$$

Another place to use our result is Nesbitt's inequality. For every $x_{k}>0,1 \leq$ $k \leq n$, with $x_{1}+x_{2}+\ldots+x_{n}=s$, the following inequality holds:

$$
\begin{equation*}
\sum_{k=1}^{n} \frac{x_{k}}{s-x_{k}} \geq \frac{n}{n-1} \tag{6}
\end{equation*}
$$

It was strengthened in [8] in the following way:

$$
\begin{equation*}
\sum_{k=1}^{n} \frac{x_{k}}{s-x_{k}} \geq \frac{n}{n-1}+\max _{1 \leq i<j \leq n} \frac{x_{i} x_{j}\left(x_{i}-x_{j}\right)^{2}}{\left(s-x_{i}\right)\left(s-x_{j}\right)\left[\left(x_{i}+x_{j}\right) s-\left(x_{i}^{2}+x_{j}^{2}\right)\right]} \tag{7}
\end{equation*}
$$

Next we give the following inequality which generalizes (6) and (7).

Corollary 3. For every $n \geq 2, p>0, x_{k} \geq 0, a_{k}>0,1 \leq k \leq n$, with $s=$ $x_{1}+x_{2}+\ldots+x_{n}$, the following extension of Nesbitt's inequality holds:

$$
\begin{aligned}
\sum_{k=1}^{n} \frac{x_{k}}{\left(s-x_{k}\right)^{p}} \geq & \frac{1}{s^{p-1}} \cdot\left(\frac{n}{n-1}\right)^{p} \\
& +p \cdot \max _{1 \leq i<j \leq n} \frac{x_{i} x_{j}\left(x_{i}+x_{j}\right)^{p-1}\left(x_{i}-x_{j}\right)^{2}}{\left(s-x_{i}\right)\left(s-x_{j}\right)\left[\left(x_{i}+x_{j}\right) s-\left(x_{i}^{2}+x_{j}^{2}\right)\right]^{p}}
\end{aligned}
$$

Proof. We use Theorem 2. We have

$$
\begin{aligned}
\sum_{k=1}^{n} \frac{x_{k}}{\left(s-x_{k}\right)^{p}}= & \sum_{k=1}^{n} \frac{x_{k}^{p+1}}{\left(s x_{k}-x_{k}^{2}\right)^{p}} \\
\geq & \frac{\left(x_{1}+x_{2}+\ldots+x_{n}\right)^{p+1}}{\left[s^{2}-\left(x_{1}^{2}+x_{2}^{2}+\ldots+x_{n}^{2}\right)\right]^{p}} \\
& +p \cdot \max _{1 \leq i<j \leq n} \frac{x_{i} x_{j}\left(x_{i}+x_{j}\right)^{p-1}\left(x_{i}-x_{j}\right)^{2}}{\left(s-x_{i}\right)\left(s-x_{j}\right)\left[\left(x_{i}+x_{j}\right) s-\left(x_{i}^{2}+x_{j}^{2}\right)\right]^{p}}
\end{aligned}
$$

Then, the conclusion follows by the inequality $n\left(x_{1}^{2}+x_{2}^{2}+\ldots+x_{n}^{2}\right) \geq s^{2}$.
Finally, remark that the reverse inequality of (1) is true in case $p \in\langle-1,0\rangle$,

$$
\sum_{k=1}^{n} \frac{x_{k}^{p+1}}{a_{k}^{p}} \leq \frac{\left(\sum_{k=1}^{n} x_{k}\right)^{p+1}}{\left(\sum_{k=1}^{n} a_{k}\right)^{p}}, \quad p \in\langle-1,0\rangle .
$$

(see for example [12]).

## Acknowledgement

This work was supported by a grant of the Romanian National Authority for Scientific Research, CNCS - UEFISCDI, project number PN-II-ID-PCE-2011-3-0087. The author thanks the anonymous referees for useful comments and corrections that improved the initial form of this manuscript.

## References

[1] S. Abramovich, G. Jameson, G. Sinnamon, Inequalities for averages of convex and superquadratic functions, J. Inequal. Pure Appl. Math. 5(2004), Article 91, available at http://www.emis.de/journals/JIPAM/article444.html?sid=444.
[2] S. Abramovich, B. Mond, J. Pečarić, Sharpening Jensen's inequality and a majorization theorem, J. Inequal. Pure Appl. Math. 214(1997), 721-728.
[3] R. Bellman, Notes on matrix theory-IV (An inequality due to Bergström), Amer. Math. Monthly 62(1955), 172-173.
[4] H. Bergstrom, A triangle inequality for matrices, (Den Elfte Skandinaviske Matematikerkongress, Trondheim, 1949), Johan Grundt Tanums Forlag, Oslo, 1952, 264-267.
[5] V. Čuljak, B. Ivanković, On the refinement of Jensen's discrete inequality and applications, Math. Inequal. Appl. 12(2009), 805-814.
[6] K. Y. Fan, Generalization of Bergström inequality, Amer. Math. Monthly 66(1959), 153-154.
[7] G. Hardy, J. E. Littlewood, G. Polya, Inequalities, Cambridge University Press, Cambridge, 1934.
[8] D. Mărghidanu, J. L. Díaz-Barrero, S. Rădulescu, New refinements of some classical inequalities, Math. Inequal. Appl. 12(2009), 513-518.
[9] C. B. Morrey, A class of representations of manifolds, Amer. J. Math. 55(1933), 683-707.
[10] L. Panaitopol, Consecinţe ale inegalităţii lui Hölder (Consequences of the Hölder inequality), Gazeta Matematică 4(2002), 145-147, in Romanian.
[11] J. E. Pečarić, F. Proschan, Y. I. Tong, Convex functions, partial ordering, and statistical operations, Academic Press, San Diego, 1992.
[12] J. Radon, Über die absolut additiven Mengenfunktionen, Wiener Sitzungsber 122(1913), 1295-1438.

